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v]-x-q-z]fU

ScL. l]W-Vy]ãV k]c]NkPlV I¤--cmæ|O + 
(KqO mLYV y]o£]jV 200 o]sæ]) S\¡-¾V 
12- – 15 o]sæ}o}ã¡ RNkLŸWVã}vV kæLð¡ 
(1 nLYU y]o¢rV + 3 nLYU oe¤) 
oOWt]¤ NkSpLY]-¨OW.

yV-RãÕV 5

IÍORWLºLeV CfV yUnv]¨OÐfV

ScL. l]W-Vy]ãV k]c]l]¢ 2K
f]qR´aO¨OÐfV IÍORWLºV

RvçU
NkSvw]¨OÐf]jOç o]W\ÿ 
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∙ nPY¡n ^sj]qÕV D-p-qO-ÐfV WL-q-e-oLp] o¹]¤ j]ÐV 
CT¡-ÕU oO-W-t]-Ss V̈ yµq]¨OÐO.

∙ f-r-pV- V̈ W}uVnL-Y-¾Oç cLU-kV NkP-l]U-Y]-R£ A-nL-vU, 
A-RsæË]¤ cLUkV NkPl]UY]-Rs f-W-qL¡ kq]zq]¨eU

NkSpLY]S¨º v]iU

mL-i]-\ÿ]-q]¨O-Ð nL-Y¾V Cx›]W fsU 
v-Rq WLeO-Ð f-q¾]¤ kæLð¡ j}¨U 
R\pVfV vQ¾]pL¨OW.

yV-RãÕV 1

20 \fOqNw Aa] /W]SsL I-Ð j]-q¨]¤ 
1:1.5 (1 nLYU pOB¡--k]: 1.5 y]o¢rV) 
IÐ AjOkLf¾]¤ y]o£OoLp] 
Ws¡¾]p ScL. l]W-Vy]ãV k]c]NW}ãV 
pO--B¡--k]pORa 1 SWL-ŸV \Ovq]¤ mLi]-\ÿ 
nL-YU oOf¤ 2 Aa] v-Rq oO-W-t]-Ss-̈ V 
A-a]¨OW.

yV-RãÕV 2

6 \fOqNw Aa] /W]SsL I-Ð j]-q¨]¤ 
ScL. l]W-Vy]ãV k]c]l]¢ 2RW pORa 
2 SWLŸOW¥ 4- – 6 oe]¨P¡ CaSvtp]¤ 
A-a]¨OW. Bh| SWLŸ]-jV Sj¡ oO-Wt]¤ 
qºLoR¾ SWL-ŸV Aa]¨OW.

yV-RãÕV 3

KqO SmLºV SWLŸV (1 nLYU y]o¢rV + 
1 nLYU pOB¡--k] + 1 nL-YU 
k-qO¨¢ oe¤) NkSpLY]\ÿV 
4 – 6 oe]¨P¡ De°L¢ 
AjOvh]¨OW.

yV-RãÕV 4
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